r 1 SCORPION // FITTING INSTRUCTIONS
\ SCORPIGN SNJ HAND BUILT

RED POWER »all IN ENGLAND
Bike Honda Forza 300 (NSS-300) Part No. RHA-188
Year 2018 - Current Fit Kit 7039.10652
Notes Where not supplied use original fittings dB Killer SCEXDBKA42 - (Type MM)

Estimated Fitting Time: 60 Minutes

Insert Lambda
Sensor Here

&
NO. | PART NO. DESCRIPTION QTY E-MARK BSAU 193a 1993/t3
1 RSC452 300mm Serket Parallel Silencer 1 DATE 05/04/2019
2 CP1037 Connecting Pipe 1 ISSUE 00
3 | cpiose Header Pipe 1 AUTHORISED | J Harkin
Fit Kit - Z039.10652
4 Z017.12760 M10 x 36mm Caphead Bolt 3
5 Z017.10108 M10 x 20mm Washer 3
6 Z026.20049 M8 x 5mm Alloy Spacer 2
7 Z017.10825 M8 x 25mm Washer 2
8 Z017.10047 M8 x 25mm Hex Bolt 2
9 Z015.31368 Mounting Bracket 1
10 7028.10030 Rubber Coated Scorpion Spring 2
11 Z016.10006 37-40mm Band Clamp 1
12 Z007.31593 Header Flange 1

n u s NNECTED TO RED POWER. VGSCORP"]N

N RED POWER



Vs a)
\

Bike

Year

Notes

SCORPION // FITTING INSTRUCTIONS
SCGRPIUN SSNg HAND BUILT

RED POWER »al IN ENGLAND
Honda Forza 300 (NSS-300) Part No. RHA-188
2018 - Current Fit Kits Z039.10652
Where not supplied use original fittings dB Killer SCEXDBK42 - (Type MM)

A) Remove original silencer from
bike, be careful of the Lambda
Sensor bolted into the back of the
silencer.

B) Unbolt the Lambda Sensor from
the back of silencer. (Keep safe as

needed for installation of Scorpion

Product).

- C) Unbolt the Header Pipe from the
engine, keep the original nuts as
they are needed for installation of
Scorpion Product.

D) Fit the Flange to the Header Pipe
and mate up to the engine, using
original nuts, gently hand tighten
Header Pipe to the engine.

E) Firmly tighten the Lambda
Sensor to the Connecting Pipe

F) Slip the Band Clamp over the
Connecting Pipe, and then place
them over the Header Pipe.

G) Loosely fit the mounting

bracket to the vehicle so a little
bit of movement is allowed by the
bracket.

H) Secure the Silencer to the
Mounting Bracket, once happy with
the position tighten the Silencer to
the Bracket, and then tighten the
Bracket to the Vehicle.

Securely tighten all fixings starting
. from the Silencer and work

| towards the Header Pipe. Ensure
the Lanbda Sensor has been
reconnected and the check the
system to ensure nothing is fouling
and everything is free from moving
parts.

"(@ SCORPION

N RED POWER



r ~ SCORPION // FITTING INSTRUCTIONS
Q SCORPI“N SSNJ HAND BUILT

A RED POWER »al IN ENGLAND
Bike Honda Forza 300 (NSS - 300) Part No. RHA-188
Year 2018 - Current Fit Kit Z039.10652
Notes Where not supplied use original fittings dB Killer SCEXDBKA42 - (Type MM)

Estimated Fitting Time: 60 Minutes

Thank you for purchasing your Scorpion Silencer.
Care of your exhaust: Please refrain from cleaning silencer with heavy solvents or abrasives!

Vielen Dank Fur den kauf eines Scorpion Schalldampfers! Pflegehinweis: Bitte verwenden Sie niemals Scheuermit-
tel oder aggressive Reiniger zur Pflege Ihres Auspuffes!

Merci d’avoir choisi un echappement Scorpion.
Entretien de votre silencieux: Ne pas utiliser de solvants ou de produits abrasifs!

Muchas gracias por adquirir un Silencioso Scorpion. Le recomendamos no limpiar el silencioso con productos
abrasivos 0 aquellos que contengan disolventes.

n u ST DNNECTED TO RED POWER. V(iscoRpmN

[\

RED POWER



